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(a) increasing on the interval (—oo,0) U (0, 00) (correct)
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o3 7. Which of the following statements is FALSE for the function f(z) = xe®.

%

a) always concave up

(
(b) has one critical point
(c) has one inflection point

(d) increasing in (—1, 00)

(e) concave downward in (—oo, —2)
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9. If y = —2® + 22> — 5z + 1 has a relative maximum when = = a and a relative
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11. For a monopolist’s product, the demand equation is p = 42—4q and the average-cost
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Y 15. The marginal-revenue of a product is g—; = 275 — g — 0.3¢® Then the unit price when
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